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BACHELOR'S DEGREE PROGRAMME 
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ELECTIVE COURSE : ECONOMICS 
EEC-06 : PATTERNS OF ECONOMIC 

DEVELOPMENT : A COMPARATIVE STUDY 

Time : 3 hours 	 Maximum Marks : 100 

(Weightage : 70%) 

Note : Attempt questions from each section as per instructions 

given under each section. 

SECTION - A 
(Long Answer Questions) 

Answer any two questions from this section : 
2x20=40 

1. What are the preconditions for an Industrial 
Revolution through the capitalist path ? 

2. Describe the background of dependency thesis. 
What are the practical implications and 
limitations of dependency thesis ? 

3. Give a brief account of the debate on Planning' 
versus 'Market'. What are the basic elements of 
Centralised Planning ? 

4. Examine the view that slow growth of agriculture 
in the soviet union had offset the benefits of rapid 
industrialization for the consumers in the country. 
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SECTION - B 
(Medium Answer Questions) 

Answer any three questions from this section : 
3x12=36 

5. Why was it necessary to enact anti-Labour Laws 
in the sixteenth century in U.K. ? 

6. What do you mean by 'War Communism' as an 
economic system in Russia ? 

7. Discuss Marxian analysis of the stages of 
development. 

8. Explain 'De-industrialisation of colonies and its 
impact. 

9. Describe the structure of Japanese village on the 
eve of Meiji Restoration. 

SECTION - C 
(Short Answer Questions) 

Answer all the questions from this section : 

10. Explain the following concepts : 
(a) Technological Dualism 
(b) 'The Big Push' 

3x8=24 

11. Distinguish between : 
(a) Economic Growth and Economic 

Development 
(b) Import Substitution and Export Promotion 

12. Write short notes on : 
(a) Boeke's theory of dualism 
(b) Causes of the Great Depression 
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